2022 C1 Block Test Revision Package Solutions
Chapter 6A Techniques of Integration
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Method 1: Split the Numerator
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This is a product of two
trigo terms. Use MF26
factor formula to convert it
into two trigo terms to
integrate easily.
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Mote that standard form T

does not work here. Thus
have to use split
numerator method.

Since denominator of
integral can be factorised,
we can use partial [raction
here




Try to find ways to have the terms under
the square root to be squared.
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Can meet the standard form  '(f)" form.
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2 o Thus take note of how By
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where C, , C are arbitrary constants and since x* —6x+13=0.

By parts method usually do max
2 rounds usually.
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Substitution method: Remember to
change 3 areas:

- x limits to y limits

- The terms to integrate into
¥ terms

- Do differentiation to find
equivalent y terms to
replace dx.
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Using result in (i) : t,;r+l =2secx.
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